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QUESTION 1

Which option is the first thing to occur when a source endpoint dials a destination endpoint? 

A. An alert is sent to the SIP Server. 

B. An invite is sent to the Cisco Meeting Server. 

C. An alert is sent to the Cisco Meeting Server. 

D. An invite is sent to the SIP Server. 

Correct Answer: D 

 

QUESTION 2

Which configuration on the Expressway is needed for a SIP end point to register? 

A. active neighbor zone between the end point and the Expressway 

B. SIP authentication enabled 

C. Registration restriction policy in Allow mode 

D. SIPdomain 

Correct Answer: D 

 

QUESTION 3

Which type of API is used to configure settings on the Cisco Meeting Server? 

A. XMP-RPC 

B. JSON-RPC 

C. REST 

D. SOAP 

E. XML-RPC 

Correct Answer: C 

 

QUESTION 4

Which two ports are used for SIP communications between an endpoint and the SIP server? (Choose two.) 

A. 1719 (TCP) B. 5061 (TLS) 
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B. 1721 (TLS) 

C. 5060 (TCP) 

D. 1720 (TCP) 

Correct Answer: BD 

 

QUESTION 5

Which troubleshooting tool does an engineer use to determine whether a cat! is being subjected to traversal bandwidth
restrictions? 

A. registration log 

B. calls log 

C. search history log 

D. event log 

Correct Answer: D 
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